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10.4 and 10.9

Practice Review
GeoMeTRY HoAorS
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Given a circle of radius 10, find 1—

the arc length of a 80° arc

Given a circle of radius 10, find 1—
the arc length of a 80° arc

2 -~

Find the area of a circle if an arc j—
- -3

on the circle has measure 30° and
length 9

2.

Find the area of a circle if an arc
on the circle has measure 30° and
length 9 ‘
ar= 30 _.C
360
= L.
Cus i c

A=mr? 2
C=108T A =T (54)

r=5d |A 29161 ,

3. -

Two tangent segments both have
length 10 and form a 90 degree angle
where they meet at P. How far is P from
the circle?




3.

Two tangent segments both have
length 10 and form a 90 degree angle

the circle?
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where they meet at P. How far is P from
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The centers of two circles are 15 units
apart. The circles have radii measuring
5 and 8. Find the length of the common
external tangent.

le'l L: 15 2

5. Find the radius of each circle.

AB=16
BC=10
AC=12

12-% +10-x = 1b
22-a2x=1b
-ay=-b

x=3 l Radii= 3,7, q’

y

The centers of two circles are 15
units apart. The circles have radii
measuring 5 and 8. Find the length
of the common external tangent.

5. Find the radius of each circle.

AB=16
BC=10
AC=12 ‘L'

6. Find AD.
. AB=12
A BC=8
CD=10
C
D




6. Find AD.

7 .Find the Perimeter.
Comey=10mm

AL.=5T

c .‘5- l‘*‘r

m A.L.=1T
L]

2 5 2

center
(of both)

)

9.
How many revolutions does a wheel

make if it has a radius of 15 inches
and it travels 100 feet? Round to
the 10™ of a revolution.

@ C=301in lo0OFt = 1200

1200~ 123 revoluhions!
30

—a

)
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7 .Find the Perimeter.

/N

2 5 2
I’arolc
center
(of both)

A

—
8

How many revolutions does a wheel
make if it has a radius of 15 inches
and it travels 100 feet? Round to
the 10 of a revolution.

)
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If an arc of a circle has a length of 4
inches and measures 45 degrees,
what is the radius of the circle?
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If an arc of a circle has a length of 4
inches and measures 45 degrees,
what is the radius of the circle?

Az AT
30 C
o

C= 32w
r= 1b

10 Find the Perimeter. 1

AABC is equil.
Find the length
of arc AB.

yP=3 §
B G

x;’(j

nadius: 6¥3
Circumt: 1203

AlL.= _’L.ﬂ(‘ .—.@

10.Find the Perimeter.

AABC is equil. I8
Find the length '
of arc AB.
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